g9 : 9= g2 15 e |

I :

Note :

P7730

wfea gl t WA 1 16

TR % 15 fHHe wientEl st ueEes

gg ¥ forq fuifea €1 |

First 15 minutes are allotted for the

candidates to read the question

paper.

) wft g AEd ¥ RS W &
fruifia 3 ST 99w KU MU 1

i) TUEER YR H OO % A U
Mised

iii) WAl o e I fefEn )

iv) Rl Evds B, THES HHEOT

Sl

"Turn over

[ QUlieh : 70

347(FK)
Instruction :

tJ

i) All questions are compulsory.
Marks allotted to each question
are given in the margin.

ii) In numerical questions, give all
the steps of calculation.

111} Give relevant answers to the
quesdons.

iv) Give chemical equations

wherever necessary.
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i) 001 M KNO,
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1. Four alternatives are given in each part

of this question. Seclect the correct
alternative and write it in your answer--
book :

a) The length of core of an fcc unit cell
is-a and its atomic radius is r. The
relationship between them is

i) ;:(—‘?]a ii) r=(—J4-—2—Ja
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The  aqueous solution having
maximum boiling point is

1) 0015 M glucose

i) 001 M KNO,

iii) 0015 M urca

iv) 001M Na,SO,. 1

The electrode potential of any
electrode does not depend on

i) the nature of metal and its 1ons.

ii) concentration of ions present in

solution

iii) pressure

iv) temperaturc. 1

In reaction A — B, the ratc of

reaction is doubled, on increasing
the concentration of the recacltants
four times. The order of the reaction
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Which does not form iodoform g

heating with I, and base ?

iy Acetone
ii) Ethanol
i1) Methanol

iv) Acetaldehyde. 1
Chemical name of vitamin D is
iy Thiamin

1i) Riboflavin
111} Calciferol
iv) L-ascorbic acid.
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ii)

Mg (318)| Mg2*(0- 1M)| |Cu?*(1x107"M)| Cu(3H)

)

¥ F e.m.f. FT AT HC |
ka1 €, E’Cu® |Cu=0-34V
E'Mg2* |[Mg=-2.37V. 1+1
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Sodium metal crystallises in the

cubic lattice and edge of the unit

cell is 430 pm. Calculate the

number of atoms in the unit cell.

(Density of sodium= 09623 g.cm ™,

At wt. = 23, Avogadro
No. NA=6-023><1023) 2
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At 20 C the osmouc pressure of
43 g per litre solution of & substance
1s 32 aumosphere. Calculzte the
value of soluuon constant. The
molecular weight of the substance
1s 342, 2
1) Explain strong and weak
clectrolytes with examples.
11) Calculate the e.m.f. of the cell.

Mg(s) | Mg? (0-1M)] | Cu® (1x 10~ M)| Cu(s).

Given E'Cu?* |Cu=0-34V

d)
3. &)
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E'Mg?* | Mg = -2-37V. 1+1
Clarify the difference between

lyophobic and lyophilic sols on the
basis of following properties :

i)  Viscosity

ii) Effect of electrolyte

iii) Surface tension

iv)] Electric charge. 2
20° 4.4, A9 R fed s@Emewie f@ga
SqUed g4 % 10 g F1 100 g FA H
faerg @9 W a1 {@ 17-535 mm 9§
a2l 17-235 mm & S | faem &
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i) NaOH+Br, —>

iij)j XeF, + H,0——

tJ

At 20°C, on dissolving 10 g of a
non-volatile non-electrolyte
substance in 100 g of water, vapour
pressure decreases from 17-535 mm
to 17-235 mm. Calculate the
molecular vreight of the solute. 2
Define conductivity and molar
conductivity of an electrolyte. What
will be the effect of change in
concentration on them ? Explain. 2
Write four main differences in
physical adsorption and
chemisorption. 2
Complete and balance the following
reactions :

. 1 Cold

i) NaOH + Br, —

iij XeF, + HO— 2
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Give two cxamples of lanthanoiq

elements. Also write their two maip

usces. 3
How is benzenc diazonmium chloride
obtained from aniline ? Write
equation and also write its two uses.

3
What is addition polymerization ?
Give two examples. 3

What are synthetic detergents ?
Why are these more advantageous
than soap ? 3
yqn @i iRl & 6 Cuteraca
K = 254 x 1073 w&vg~! g A
(log2=0-301) _ 4
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1+ 1
a) PYNH,)*
b)  K,[Ni(CN),|
ii) Fre=tetaa 1 afvafua Fifsm
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Rate constant for the first order
reaction has been found to be

K =254 x 102 sec™' . Calculate its
three-fourth life. (log2=0-301) 4

Describe with diagram, method of
obtaining pure aluminium from
alumina. Write the names and uses
of its two main alloys. 4
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) Write the 1.LU.P.A.C. nameg q
the following : 1 +

4+ - - .
(@) Pt(NH;)g (b) hngI{Cl\]q]

Define the following : 1+
a) Complex ion

b) Co-ordination number.
What are electrophilic substitution
reactions ? Explain its mechanism
with an example of Aryl halide. )
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Write  two  general  methods  of
preparation of primary alcohol. How
will vou obtain ethane and ethoxy

ethane from cthanol 2 Also write
e mamn uses of ethanol. Give
cquations  of  all  the  related
CACUONSs.

S
OR

methods of preparation of

Phienol. How does it react with the
following 2 S
2} Cone HNDs

1} ':3.-: waler

) dine.

What happens when (write chemical
€quations only) —

1) Benzaldehyde is heated with

NzOH ?

1} Formaldehyde Is reacted with
NH, ?

11}

Acetone is reacted with HCN ?
) Toluene IS oxidized with
(31‘(2:521312 2

v) Acelaldehyde
dilute base 2 3

S
OR

IS reacted with
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with diagram the

seribe
pese 1od of HN’O3 OR

manufacturing mctl
H,S0, . How docs it react with —
P i

- - PRl - - ?
i) Carbon, i) HyS and iii) Todine

Give cquations of all the rclated
renctions. ) S
By giving cquation of the reactions,
confirm the presence of > C = O,
- CHO and five - OH groups in
Glucose. Also give two chemical
lests of glucose and fructose. S
OR

What are proteins ? Write its main
sources and uscfulness for the
human body. What is meant by
de-naturation of protcin ? Explain.
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